

REPUBLIC OF GHANA

## UNIVERSITY OF GHANA

# TENDER EVALUATION REPORT AND RECOMMENDATION FOR AWARD OF CONTRACT

### **FOR**

# CONSTRUCTION AND COMPLETION OF PROPOSED BUILDING FOR WEST AFRICAN CENTRE FOR CROP IMPROVEMENT (WACCI) PHASE 2 - UNIVERSITY OF GHANA

(SUPPLY AND INSTALLATION OF ELECTRICAL, MECHANICAL, FIRE FIGHTING, INTERNET, LABORATORY HARDWARE EQUIPMENTS AND OTHER SPECIALIST WORKS)

**National Competitive Tendering** 

## UG/WK/ACE-WACCI/P2/04/2017

#### Consultants

Physical Development and Municipal Services Directorate University of Ghana Post Office Box LG 52 LEGON-ACCRA Tel No. 233 -544310488

**TAL Consult** 

Accra

JULY, 2017

PRICED BILL OF QUANTITIES

			BILL No.1
CONSTRUCTION AND COMPLETION OF			
PROPOSED BUILDING FOR WEST AFRICA			
CENTRE FOR CROP IMPROVEMENT-			
UNIVERSITY OF GHANA (PHASE 2)			PRELIMINARIE
m .	Qty Unit	Rate	GHCedi/Pesewa
" " 1/5	Qij Omi	Teuto	Officed// cscw2
" " 1/6			
" " 1/7			
" " 1/8			
" " 1/9	-		20,000.0
" " 1/10			20,0000
" " 1/11			
" " 1/12			
" " 1/13	1 1 1		0
" " 1/14			5,000,00
" " 1/15			
" " 1/16			
" " 1/17			2,000
" " 1/18			
" " 1/19			
2.12			
1/20			
1/21			
1/22			11,000,0
1/23			11,0000
1/24			
1/23			1
" " 1/26			10,000,0
		4	
CENTED AT CONDUMINATION AND PROPERTY OF THE			
GENERAL CONDITIONS AND PRELIMINARIES			
CARRIED TO GENERAL SUMMARY		GH¢	(00,000,00
America de Caración de la composição de			
again of court property where the		1	
man a management of the second			
processing and the response of the second			(4)
Section of the contract of the second			E
entires research to be. Acc 1 *-4			
			ю
Company of the second s			
Amateurin photolic has been flame. "Add"			
Section 1.			
The state of the s	1 1 1		

ITEM	DESCRIPTION	QTY	UNIT	RATE GH¢	AMOUNT GH¢
	B/F				662,941.00
A	5/8 Dia. X2m threaded 254om-meter Cubond ea	6	No	350,00	2,100,00
В	rod. AT-001G Lightning event counter	1	No		1,500,00
С	AT-010H Polypropylene earth pit	2	No		500,00
D	AT-020H 235x40x25mm bonded bar for earth pit	2	No		700,00
E	AT-010L Conductivity plus gel	2	No		400.00
F	AT-011F Naval brass cable + tape parallel clamp	2	No		130,00
G	AT-090H Earth rod multipurpose clamp	6	No		(No. 10.10.100)
Н	AT-041E Conical roof conductor( Empty)	28	No	300,100	1,800,00
					2,240,00
J	AT-020F Naval brass square tape and cable clarn	1	No	65,00	65,00
K	2m galvanized steel guard tube for tape	2	No	160,00	320,00
	A-030E Nylon conductor clip with 17 mm height UPS-20KVA	48	No	15.00	720,00
L	Supplying, installing, connecting and testing 415V, 3phase UPS,,complete with by pass switch and inbuilt AVR including all necessaery accessories and ancillary works and materials required for complete installation as specified and indicated on the drawings	3	No.	SYJYS	- 162,43570
	SUPPLY AND INSTALLATION OF ELECTRICAL/FIRE FIGHTING /INTERNET EQUIPMENTS				
	CARRIED TO SUMMARY				835,851,00
				7	
	of the experience				
PDMSD/6				2	b 21
י טויוטט/נ					

	lory	Unit	RATE GH¢	AMOUNT GH¢
DESCRIPTION AND COMPLETION OF PROPOSED BUILDING FOR	QTY	Unit	RAIL GHU	ALTOURI GIT
WEST AFRICA CENTRE FOR CROP IMPROVEMENT-UNIVERSITY OF				
GHANA (PHASE 2)				
SUPPLY AND INSTALLATION OF MECHANICAL /PLUMBING	1			
EQUIPMENTS GROUND FLOOR				
COOLING EQUIPMENTS	1			
supply and install the following				
Supply and install the following  Split system comprising of single circuit air-cooled  condensing(outdoor) unit and indoor unit(evaporator) pre charge with  Refrigerant R410A or 407C				
Celling cassette units Air condition units (14.2kw, 48,000btu/hr.,) Cooling capacity	2	no	11 8.80 , 31	23 760,00
Electrical Load: KW			, ,	,
Air-condition 18KW 60, 000btu/hr	2	No.	14,850.00	23,760.00 29,700.00
All-Condition 15ktv 60, 66555,711				
split unit				
Air condition units (7.1kw, 24,000btu/hr.,) Cooling capacity Electrical Load:	7	no	2,790.00	19,530.00
Air condition units (5.3kw, 18,000btu/hr.,) Cooling capacity electrical Load:	2	no	2,295,00	19,530.00
Air condition units (3.2kw, 12,000btu/hr.,) Cooling capacity Electrical Load:	6	no	1,800.00	10,800.00
Fabricate and install burglar proof for air-conditioners	Lot			30,000
install burglar proof for all conditions				
	Lot			20,000
other accessories materials require to complete installation	Loc			7
COLD ROOM INSTALLATION		2.4		
supply and installed complete 5kw cold room unit with control panel. Includes 100mm thick sand wish panel,door, air curtain	1	No.		14,400.00
and all installation accessories				
Test run and commission	Lot			2,000
GROUND FLOOR				
Carried to Summary		19		154,780.00
		1.53	1	
tax				
		1 13		
				1 "
				],,
And the state of t				1
The state of the s		80		
1 3 5 3		1.4		
	1		. *	100

	1 1		T I	. 1	
escription	QTY	Unit	RATE GH¢	AMOUNT GH¢	
ONSTRUCTION AND COMPLETION OF PROPOSED UILDING FOR WEST AFRICA CENTRE FOR CROP MPROVEMENT-UNIVERSITY OF GHANA	Ų.,				
UPPLY AND INSTALLATION OF MECHANICAL PLUMBING EQUIPMENTS					
IRST FLOOR COOLING EQUIPMENTS					
upply and Install the following pilt system comprising of single circuit air-cooled ondensing(outdoor) unit and indoor unit(evaporator) pre charge engerant R410A or 407C	ge with		- 6		
ceiling cassette units or condition units (14.2kw, 48,000btu/hr.,) Cooling capacity	1	no	11,700,00		11,700.0
ir condition units (18kw, 60,000btu/hr.,) Cooling capacity	2	No.	11,700,00		28,800.
Ir condition units (7.1kw, 24,000btu/hr.,) Cooling capacity lectrical Load:	5	no	5,850,00		29,250
Air condition units (3.2kw, 12,000btu/hr.,) Cooling capacity lectrical Load:	11	no	4,950.00	*	54,450.
abricate and install burglar proof for air-conditioners	Lot				30,000.00
ther accessories materials require to complete installation	Lot				20,000.00
est run and commission/Test run and commission					2,000
TRST FLOOR					
Carried to Summary					176,200.
*		1			
		1 /			
				1	
		3		W.	27

Mary o

	QTY	Unit	RATE GH¢	AMOUNT GH¢
STRUCTION AND COMPLETION OF PROPOSED BUILDING	7			
WEST AFRICA CENTRE FOR CROP IMPROVEMENTS				
/ERSITY OF GHANA		/		
PLY AND INSTALLATION OF MECHANICAL/PLUMBING				1
IIPMENTS				
COND FLOOR				
DLING EQUIPMENTS				
ply and Install the following system comprising of single circuit air-ccoled				
tensing(outdoor) unit and indoor unit(evaporator) pre charge with				
igerant R410A or 407C				
ling capacity 100,000 btu/hr (29.6kw)	2	no	18, 135,	00 36,270,00 00 36,270.00
trical load kw			10 30	- 26 270 0
oling capacity 100,000 btu/hr (29.6kw)	2	No.	18,133.	50 36,270.0
trical load kw			11.7516	50 22 USO N
condition units (18kw, 60,000btu/hr.,) Cooling capacity	. 2	No.	11,740.	25, 450,0
condition units (7.1kw, 24,000btu/hr.,) Cooling capacity	5	no	2,700.	cc 13,500,00
condition units (7.1kw, 24,0000ta) iii., Cooking or provide ctrical Load:				1 3
condition units (5.3kw, 18,000btu/hr.,) Cooling capacity	3	No.	2,250.	00 6,750.00
46			000	00 7 600 00
condition units (3.2kw, 12,000btu/hr.,) Cooling capacity	3	. no ·	2,5 20.	1,260,00
octrical Load:				15,000
ow for provision of extraction systems	Lot			
ow for provision of HEPA Filter (clean filters)	Lot			12,000
	Lot		19	25,000
low for provision of Air-Condition duct works				6,000
low for provision of Air curtain	Lot			
low for pipe works/Electricals and Drainage works	Lot		· L	24,000
to pipe works also are				
ITCHEN NET			1	5,400.
upply and installation complete 1200mm x 500mm kitchen nood with				
entrifugal fan PVC duct and all installation accessories		1		30,00
upply and installation of burglar proof systems for air conditioners	Lot	1		
est run and commission/Test run and commission	Item			2,00
	Lot			20,00
other accessories materials require to complete installation	Lot	1	1	
TECONO EL COR			1	
SECOND FLOOR				263,230
Curried to Summary				
the transfer of the second second section to	1/1			
			. 1	
4-1		1.0		
			1	
*				
	=			
MC a				

Consulation	077		l	1
Description	QTY	Unit	RATE GH¢	AMOUNT GH¢
SUPPLY AND INSTALLATION OF SCIENCE LABORATORY HARDWARE AND OTHER SPECIALIST WORKS				
Allow a provisional sum of 1 million five hundred thousand ghana cedis				
for supply and installation of laboratory hardware (such as laboratory worktop, stool etc.) as to be directed by the project consultant and				
client			17	1,500,000
supply and Installation of 10mm thick glass curtain wall including all metal works and accessories size 1800mm x 9000mm	17	m²	240000	40,800.00
supply and Installation of 10mm thick glass curtain wall including all		S. A. S.	2,900,00	1,,,,,,,,,,,
netal works and accessories size 4700mm x 6700mm including			0	292000
1800mm x 3400mm door	32	m²	2,415,00	11,200.00
ound proof windows size 2700 x 1800mm	6	No.	20,970-00	125,520,0
ound proof windows size 4420mmx 1800mm	1	No.	34,362 .	234,362,0
supply and installation of sound proof doors size 1800mm x 2500mm supply and installation of sound proof doors size 900mm x 2100mm	2 2	No. No.	19,600,00	39,200.00
Now for Prefabrication and Installation of Metal Latices at frontage of		140.	8,163,00	79,200,00 125,520,00 234,362,00 39,200,00
ullding	Lot	3		60,000
Connection water and other accessories by GWCL:	Lot		-3	10,000
Allow for supply and installation internal glazed wall partitioning	Lot			120,000.00
WPPLY AND INSTALLATION OF SCIENCE LABORATORY				7
ARDWARE AND OTHER SPECIALIST WORKS Carried to Summary				2025,708.8
*				
				¥0
•			100	
à ·				
r v				
Single Control of the		196		
Committee (California California	- 1			
Character - '			8	
			-	
				* 413
*				
*		**		

DESCRIPTION	QTY	UNIT	RATE(GH¢)	AMOUNT(GH¢)
INTERNAL / EXTERNAL WATER TANK AND PUMP				,
Internal GRP water tank with dimention 6M*3M*2M, total volume 36 m3	2	по	90,000,00	180,000.00
Living pumps (one is in use,the other is spare), head of delivery 30m, power 6kw, 3 pharse	2	no	5,400.00	10,800,0
Fire pump (one is in use,the other is spare), head of delivery 30m, power 6kw, 3 pharse	2	no	5,400.00	10,800.0
100 mm diameter valve	4	no	810.00	3,240,00
80 mm diameter valve	6	no	720,00	4,320.00
80 mm check diameter valve	16	no	720,00	11,520,00
50 mm diameter valve	16	no	540.00	8,640,00
80 mm diameter flange	6	no	117.00	702.00
80 mm diameter PVC pipe	50	m	36.00	1,800,00
80*50 mm diameter PVC reducer	12	no	27.00	324.00
50 mm diameter male threaded joint	15	no	54.00	810.00
50 mm diameter check valve	8	no	360100	2880,00
50 mm diameter float valve	7	no	270.00	1,890,00
50 mm X 90° diameter PVC elbow	12	no	36,00	4,32.00
50 mm diameter PVC tee	15	no	40.00	600.00
50 mm diameter PVC straights pipe	80	m	72,00	c 760.00
Water level controller	7	no	225.00	1,575,00
RAINWATER PIPES				1,3 13 , 5
Supply and install the following class 'B' PVC supply pipes and fittings jointed with solvent cement				
100 mm diameter PVC Pipe	130	m	40.00	5,200.0
100*45°mm diameter PVC Elbow	60	no .	58,00	3,480.00
100*90°mm diameter PVC Elbcw	35	no	28.00	2,03000
100 mm diameter clamp for pvc vertical pipe	1	lot		450.00
100 mm dlameter rainwater outlet	1	lot		450.00
INTERNAL / EXTERNAL WATER IANK AND PUMP				
Carrled to Summary			8 0	

Description	QTY	Unit	RATE GH¢	AMOUNT GH¢
CONSTRUCTION AND COMPLETION OF PROPOSED BUILDING FOR WEST AFRICA CENTRE FOR CROP IMPROVEMENT (WACCI)  UNIVERSITY OF GHANA.  (ELECTRICAL/MECHANICAL/FIRE/INTERNET/LABORATORY HARDWARE EQUIPMENTS AND OTHER SPECIALIST WORKS- PHASE 2)				
SUMMARY				
		*		100,000.00
PRELIMINARIES AND GENERAL CONDITIONS OF CONTRACT				835,851,00
SUPPLY AND INSTALLATION OF ELECTRICAL/FIRE FIGHTING /INTERNET EQUIPMENTS				
SUPPLY AND INSTALLATION OF MECHANICAL/PLUMBING EQUIPMENT (GROUND FLOOR)				154,780.do
SUPPLY AND INSTALLATION OF MECHANICAL/PLUMBING EQUIPMENT (FIRST FLOOR)				176,200.00
SUPPLY AND INSTALLATION OF MECHANICAL/PLUMBING EQUIPMENT (SECOND FLOOR)	rs			263,230,00
SUPPLY AND INSTALLATION OF SCIENCE LABORATORY HARDWARE AND OTHER SPECIALIST WORKS		1 30		2,025,708 20
INTERNAL / EXTERNAL WATER TANK AND PUMP	ļ .			257,703,00
DAYWORKS				20,370.00
GUD TOTAL				3,833,862 00
SUB-TOTAL  ALLOW FOR THE FOLLOWING				79 27 8. / 3
Insurance against injury to persons and property as per contract conditions	*			38,338.62
ADD: CONTINGENCIES (10% OF SUB-TOTAL)				383,386.20
TOTAL CARRIED TO FORM OF TENDER				4,255,586,82
PREMIER SHELTER LIMITED		LESS	DISCOL	N 375,986. 82
SIGNED				
Managing Director		MITED	,	3,879,60000
11/05/17	ER SHELTE	RUMITED		
PREM	1	Ctor		
MI,	Managing	Direc		
				20
Marie State Souther Co.				
	1	l	1.	1 1